AllWrite Consensus
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Sit with your Revision Twin opposite 2 others at a table.

The purposes of this structure is to find a ‘consensus’ answer to each question – something you can all agree to or at least all live with. It should also be your team’s best answer.

You will get 3-5 minutes to Round Robin your views to establish a consensus answer, then a further 3-5 minutes to write you answers on the sheet. This process will be repeated until the task sheet is complete. Then swap and mark with revision twin.

1. Name 2 French socialists of Louis Philippe’s period and say what they believed in

2. Explain why Louis Philippe often wore the uniform of the National Guard
3. Give 4 reasons why the 1848 revolt took place
4. Give 2 positives and 2 negatives of Louis Philippe’s foreign policy

5. Explain the long and the short term significance of the June Days
6. Give 4 valid reasons why Louis Napoleon was popular enough to become President
7. Describe the achievements and failures of Napoleon III’s domestic policy in the 1850’s
